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Economics
Paper II

AL ITET
gyutrent 11

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

GOl : A TRAULThd THY U (50) gl TEd fonl STed. Uoieh TR g (2)
U SRd. @d U Wi

1. Under what conditions a

1. HReHdieal e Eeieluehl hioTe

giiferdia sriem omEa ?

monopolist’s output is efficient ?

(A) Third degree price discrimi-
nation

(A) JAF GHIUT HeAHg
(B) Second degree price discrimi-

Dt (B) fgda yamo1 geadig
(C) First degree price discrimi-
nation (C) YoM JHIU HeAH

(D) When there is no price

(D) Seg1 Hea"g hell Sd el

discrimination

2. A Pigouvian subsidy : 2. UNUiG steHerd

(A) cannot exist with externalities

(A) T STEAA ST ¥ehd ATl
(B) is the same thing as a

Pigouvian tax (B) =UNH JIoofld T ST

(C) is measured in terms of (C) duoiia Sferwd Hierl S

Pigouvian dollars

: : D) 3ICYIGATAT HIHIShg ST $52dH
(D) moves production to the socially (D) SedTe % g

optimal level of output ST Uidesiehe =M.

3 [P.T.O.



In Tobin’s portfolio balance

approach to money, the indifference

curve of plungers are necessarily :
(A) Negatively sloped and concave
(B) Positively sloped and convex
(C) Positively sloped and concave
(D) Negatively sloped and convex

Which of the following has more

elastic demand ?

(A) A without

commodity

substitutes

(B) A commodity with close

substitutes

(C) A commodity on which a small

fraction of income is spent

(D) A commodity the use of which

cannot be postponed

3.
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e e AEEIR TR

qHcsl  HRUTAT (¥R Ukl
STASUAT) HKiT= HHRISh STAYIH
............. 3@ W,

(A) 30 WU 0T (TR ETARM)
G ICED

(B) &9 WaUa= 0T ( STRYEHRT)
Hfgdsh

(C) ¥ AU A0 ( STRYEAHNM)
G INCED

(D) 3 WUl 0T (TR ETATRM)
Sfgdsh

ETCAeTdeh! IV S AETO 3Tfeeh

Agdie A9d ?

(A) < IR FAET T TEAA

(B) <1 I Sacdd A STEA

(C) 1 SKER 3cq=Tra1 gl 9rT @«

el Sl

(D) <1 S&Ia1 STHAT ATSUAER <Tehal A

e




The marginal revenue of a
monopolist facing linear demand
curve approaches price when

demand elasticity :

(A) approaches zero
(B) becomes negative
(C) approaches infinity
(D) approaches one

() Income effect of a price change

is always positive.

(z1) Substitution effect of a price
change is always in the opposite
direction of price change

(negative).
(A) Statement (i) is true but not (i)
(B) Statement (i7) is true but not (7)

(C) Both statements (i) and (ii) are

true

(D) Both statements (i) and (ii) are

false

MAY - 11216/I11—A
YT ATTOfereh ST FekiqI STrTeeer
T Il doel fohAdiuadl 8 Seal
AU STetfereha &
(A) ¥ARS S
(B) SU @

(C) eFahe S

(D) 1% Sd

() Toma deamn Saa= gfiomg Jgd=

o STl

(i) Torma scem=n qatgar gfoms S

foraa searen faeg fegm Smom

(o) A

(A) faam ) 5@ 9w (i) @l

B) faum (i) ¥ T () RN

() faum () =nfor (i) <= T=

D) faam () snfor (i) =

[P.T.O.



Generally under monopoly the cross-
elasticity of demand with other goods

or services is :

(A) very high

(B) moderate

(C) very low

(D) unity

Pure oligopoly is one where :

(A) There are many firms producing

homogeneous product

(B) There are few firms producing

homogeneous product

(C) There are many firms

producing differentiated

product

(D) There are few firms producing

differentiated product

Market mechanism are unlikely to

provide :

(A) Prices

(B) Non-rival goods efficiently
(C) Supply and demand

(D) Equilibrium

MAY - 11216/II—A
TEHTHROMIY HeRIGRHS ScaTfed sholedl

[

TRE 3 IR -HArA Tevide 87
Faraehdl & :

(A) T4 S 4

(B) HeIH 3Td
(C) TU HH 3T
(D) T Hd

iz UMt R =Uel 3T INIR

(A) TU ITTEEAT THiSTH TR
BT b {dld

(B) &l ITTHEAT i€l T
BT h{dld

(C) TU IErHeen faufea aw= 3R
ETGI]

(D) st EEEen faafeq aw= 3aacA
AT

SISO WeAetteh! F3elt T < T1ehd
T ?

(A) ferwt

(B) /99l %] A&

(C) gE&al sfor AFToft

(D) HHAIA




10.

11.

In the long-run competitive

equilibrium, the theory predicts

that :

(A) TC = TR and MC = MR

(B) Firms operate at maximum

average total cost

(C) There is an incentive for entry

or exit of firms
D) TC TR and MC MR

“Excess capacity” and selling costs
are the essential characteristic of the

firm in market of :

(A) Monopoly

(B) Perfect competition

(C) Monopolistic competition

(D) Pure competition

10.

11.

MAY - 11216/I11—A
quf TS STERIei FHdreTsTe g

W Uhid HA ¢

(A) THU T = THI Wi 01 o=
Td = 9EN 9T

(B) SENTEEN HEqH TSR THU @

Qi Scaie shidld

(C) JTFMA SMe®A IR T Jow
3T ST STRTEEN= Sfgtae
SR ot STEd

(D) TR @ THI Wit A7 Hro=
Td N wwd

* srfaftera e’ snfor Tt @< Shivren

TSR ST TUIfasy e ?

(A) TSR

(B) qu e

(C) FeRiRIge el

(D) s i
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12.

13.

14.

If the production of a good creates
negative externalities the private

market will produce :

(A) too much of the quantity at too

low a price

(B) too much of the quantity at too

high a price

(C) too little of the quantity at too

high a price

(D) too little of the quantity at too

low a price
The aggregate supply of land is :
(A) Absolutely elastic
(B) Absolutely inelastic
(C) More than unit elastic
(D) Relatively elastic

Opportunity costs are also known

(A) spill-over costs

(B) money costs

©)

alternative costs

(D)

external costs

12.

13.

14.
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S FEEAT AT FUT TRl AT

W G IR

(A) &= GUE ST HEE 36

o [a [a)

Eud Yl fRAd e

(B) I&= EUa S O ScareH

e ST fehAdian e

(C) gud KU AEE 3G ICRERSIIN

o n [aV
[eh Rl endl

(D) EU= HH A ScAR GUE HH|

~ ¢

o a
(e HAll enddlc

JH= THU GEQ
(A) gl et STEdl

(B) YUl Tcrereieh ST

(C) UhUe S oia=icsh 3Tl

(D) oA et 3Tl

dehfeqess T § I AEME AeErd
ST ¢

(A) Fieau wd
(B) 41 @
(C) v @
(D) <& T




15.

16.

17.

The term fiscal federalism was

introduced by :

(A) Dalton

(B) Seligman

(C) Musgrave

(D) Amartya Sen

The basis of corporate tax is :
(A) Total turnover of the firm

(B) Profit after distribution of
dividend

(C) Profit before distribution of
dividend

(D) Capital employed in the firm

The MPC of a consumer is 0.80 and
APC is 0.40, then the income

elasticity would be :
(A) 0.5
(B) 2.00
(C) 1.20

(D) 0.40

15.

16.

17.

MAY - 11216/II—A
TESTEE & 9e 9t

SR TS 1
et
(A) Sl
(B) HferH
(C) "HI=
(D) 39

| =T YR B oSTHal

A o W oY
(A) SUAMETI THUT Iedlerd

(B) onureT faaomar e Tfgeren

THT
(C) wmreT faquomemei=n =
(D) FIH TS Sl Wgad

IR AT TR Fa=it 0.80 30T
FOEH YA F<iT 0.40 3T, TR Iq=
[GECIC I

(A) 0.5
(B) 2.00
(C) 1.20

(D) 0.40

[P.T.O.
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18. The number of telephone calls | 18. ws faffer=m WA 293 el ATele

received in 293 successive one- TR q"TQ’IH\'Cﬂ qe wel ool o

HicTHEl G AT

minute intervals are shown as

follows :
No. of Calls Frequency 0 10
0 10 1 28
1 28 2 35
2 35 3 45
’ # 4 65
4 65 . -
5 52
6 32
6 32
7 12
7 12
8 14
8 14

AT hicH=] TUE ST sigereh 76

The mean and modal number of calls

are : 3:"% :

(A) 3.89, 6 (A) 3.89, 6
(B) 3.89, 4 (B) 3.89, 4
(C) 6, 3.89 (C) 6, 3.89
(D) 4, 3.89 (D) 4, 3.89

10



19. If the coefficient of correlation

20.

between X and Y is —1 or +1 and
a, b and ¢ are constants, then X and
Y are connected by which of the

following relations :

A) —

(B)

Cc —

D) —

Which relationship between the

three means is correct ?

(A) AM. > G.M. > HM.

(B) HM. > G.M. > A M.

(C) GM. > AM. > HM.

(D) AM. = G.M. < H.M.

MAY - 11216/II—A

19. SR X o7fo1 Y aHfiel Heday Fei v

20.

-1 fear +1 3@« =01 q, b, ¢ &
feR we oo, @ X emfur Y

T WlelteTdeh! hITCAT HeeM ool
AT ?

A) —

(B)

Cc —

D) —

T "UH AEd R0 Hae SeR

e ?

(A) AM. > GM. > HM.
(B) HM. > G.M. > AM.
(C) GM. > AM. > HM.

(D) AM. = GM. < HM.

11

[P.T.O.



21.

22.

23.

The formula for constructing index

using Laspeyres method is :

(A)

(B)

©)

(D)
When , is greater than 3, the curve
will be :

(A) Mesokurtic

(B) Platykurtic

(C) Demikurtic

(D) Leptokurtic

The name of the economist who first
defined the concept of shadow prices
is :

(A) Rosenstein Rodan

(B) H. Leibenstein

(C) J. Tinbergen

(D) G. Myrdal

21.

22.

23.

MAY - 11216/I1—A
AR FeRT= et Teftel PATTIR
el S

(A)

(B)

(C)

(D)
SRl o 31 3 U ST ST, Je81 o
B 3Tl A :
(A) HEEHEH
(B) wifehfdh
(C) SHrBfeH
(D) T<rRfeh

BT feaa a1 AHeyadl HIOTATD
AT YIH A el ?

(A) TR TSH
(B) TH. TMge e
(C) St feeriq

(D) Sit. foefa

12
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24. HDI is constructed with reference | 24. HDI =il HISUll @ieiiel Ssia1 LR hedl
to : SIS
(i) Life expectancy of birth (i) SHoE STgHMA ITUET
(ii) Real GDP/per capita (i) TSR Iqd T UM IR
(i211) Inflation index (iii) Rl e
(iv) Nominal GDP (jv) TG T QLA SeareH
The correct answer is : g IR WS
(A) (@) and (i) (A) @) o (i7)
(B) (i) and (iii) (B) (i) T (iii)
(C) (ii) and (iv) (C) (iii) 3 (iv)
D) Gv) D) Gv)
25. Harrod-Domar model of economic | 25. 3T UG TE-SMR YfaHM AR
growth is based upon : YA 3Te
(i) Warranted growth rate (i) VFIRAT JGET
(iz) Investment growth rate (i) TAATH FGIal
(iii) Productivity growth rate (ii) IcIEehdl Jgial
(iv) Natural growth rate (iv) “Efie FFX
The correct answer is : I IW BN
(A) () and (iii) (A) () 3 (iii)
(B) (i) and (i) (B) (iii) M1 i)
(C) () (C) ()
(D) (i) and (iv) (D) @) = (iv)
13 [P.T.O.



26.

27.

28.

Adam Smith argued in favour of a

policy of :

(A) Protection

(B) Free trade

(C) Self-sufficiency
(D) Minimum welfare

Economic growth results from an

increasing :

(A) Propensity to consume
(B) Propensity to import
(C) Propensity to export
(D) Propensity to save

In ‘Global Hunger Index’ 2013
report by International Food Policy
Research Institute (IFPRI), India

has been placed at :
(A) 65th Rank
(B) 66th Rank
(C) 63rd Rank

(D) 68th Rank

26.

27.

28.

MAY - 11216/I11—A
sfeq fmy It =1 SR N gRaR
el :

(A) &

(B) HK =AMAR
(C) aMYRar
(D) fFam weamm

TIeeTdeh! IO dedd JGi e
e ifiggt a0 ?

(A) 39T Yot

(B) ST HI0AT= Yl

(C) frafa sevart gai

(D) s=d HIOA Yl

20139 AW TG R0

eied Fe9= (IFPRI) dfYash SUrmR
ST STRATATIER YRATA %A Saehl

AR

(A) 65a1
(B) 6691
(C) 63da1

(D) 681

14



29.

30.

31.

The Economist who stressed the role
of the entrepreneur in development

was :

(A) Hirschman

(B) Nurkse

(C) Rosenstein Rodan
(D) Schumpeter

The concept of organic composition

of capital is given by :
(A) Marshall

(B) J.S. Mill

(C) Karl Marx

(D) Adam Smith

Which one of the following policies
will not be useful for bringing the
economy out of unemployment

equilibrium ?

(A) a rise in minimum wage rate

(B) a rise in government
expenditure

(C) a rise in taxes

(D) a rise in money supply

29.

30.

31.

MAY - 11216/1I—A
forerrayfshad SO SESiehT=l YfHehT

DIV AAIMSHIAAH ARG et 2

(A) TR
(B) T4

(C) TR UM

(D) IHR

Tegar=a Higd e FheuH
qH Higel.

(A) e

(B) S.uH. foa

(C) T TR

(D) 3fsw fEy

ETeiTeTdeht ShIOTd  ENTOT SQSIT=AT

AT IR STefereedd al

FIEUIY TP 3 ARl 7

(A) Tum a7 Sude 9

(B) Wil TEidd 9@

(C) Hrdtel o
(D) NN QRaSIe 9

15
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32.

33.

If the ratio of currency to demand
deposits ratio increases, the money

multiplier value :

(A) increases

(B) decreases

(C) does not change

(D) change in equal proportion

In classical macro-economic model,
automatic full employment is

ensured if :

(A) Excess demand in labour
market leads to rising real

wage

(B) Excess demand in labour
market leads to falling real

wage

(C) Excess supply in labour market

leads rising real wage

(D) Real wage does not change
whether there is excess demand

or supply in labour market

32.

33.

MAY - 11216/I11—A
SR Tl SO HETof St AT T[uiR

e, W TE EE e
(A) omed

(B) =d

(C) wgerd gl

(D) FHYHOMG SEaTd

TAHAET THY AT YqeHI, = ted

quf ISR @ 3| S]:

(A) =ik sTSRde AfdRed ArToiges
e HS[{id 91e Bd 3THa
(B) #fHeh sRdie SAfdRed ArToiiges

e Hld B B A

(C) s aSTrdtel Tfdfied qRaedes
EESERS UG IC Il R

(D) =fYeh ISR 31fafed ArTon safor

[ASMes ard HeRId agd Bd

THA

16



34.

The imposition of an import tariff by

a nation :

(A) Usually improves the nation’s
terms of trade and increases the

volume of trade

(B) Worsens the nation’s terms of
trade but increases the volume

of trade

(C) Worsens the nation’s terms of
trade and reduces the volume

of trade

(D) Usually improves the nation’s
terms of trade but reduces the

volume of trade

MAY - 11216/II—A

34. <M IC UYesh AR

(A) HHEM: SR Jeageddl qUHd
YU SIS S0 A0TSR

AR el

(B) <M= oaqedd SUd B "SI
SO AT SATARTE
Serdt

scleled

(C) ST oagedd SUd B SSe[d
AR ST AT
el

SNy

(D) HE: QM= Heaqeddal Ud
GO SIS AT ST SHATIRT=A

AR Seddl

35. Until 1971, the SDR had the same | 35. 1971 Tdd SDR ¥ & Ir=a1 M
value as : B :
(A) an ounce of gold (A) T 39 9H
(B) a pound of gold (B) T& die €M
(C) a US dollar (C) TF JTE. <l
(D) a British pound (D) s fafew die
17 [P.T.O.



36.

37.

38.

The classical theory of comparative

advantage is based on :

(A) the labour theory of value
(B) law of diminishing returns
(C) law of increasing returns
(D) tariffs

Which one of the following is the

immediate effect of tariff ?
(A) fall in production

(B) rise in production

(C) fall in price

(D) rise in price

Stability in the Keynesian cross

model requires :
(A) MPC to be equal to 1

(B) MPC to be less than 1 but

greater than zero

(C) MPC to be greater than 1

(D) MPC to be non-negative

36.

37.

38.

MAY - 11216/II—A

T draafer oy fagr 3R smenfa

AR

(A) oI o\ THgT

(B) w2 Y=

(C) decn gl fagid

(D) 9xITR

g[eehTel dTchled QIR TROTMH  ShI0T
e ?

(A) 3URAM o2
(B) 3R 9@
(C) forwdia =
(D) ferwdia @

SH-Tfrd shig fqaea feraast & e
AP A :
(A) W STH Yo U gl

(B) HHT SUHNT Yo TahTda shHl W
IATIET ST Bl

(C) HHMT UGN Fo<it Tehrde Sd
Bal

(D) T ST oIl 3RO STHE!

18
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39. A long-run Phillips curve will show | 39. Teahc™ fhefiw=n o, sRISTIRET X
no trade-off between unemployment ST WITRTTerel AT TTeATeTdeh! hIvTC]
rate and inflation under which of the qftfeerdtd ST edh SO0 ATE 2
following circumstances ? (A) WEETEST= €Ud @0 8 ATl
(A) Inflation rate does not adjust (B) WERTEEsTeAT <X SJEu St
(B) Inflation rate always has an w3

upward trend (C) 3T (S[eevlt Brom=ar) Tdeqn
(C) Inflation rate adjusts the SIS AR T Sesull
following adaptive expectation BId
(D) Inflation rate is independent of (D) HIERIEd 9 SUSTI AT €Y &
unemployment rate 37T

40. Match the following and select the | 40. <irewn @ren 3o Qe feae=n qqqub
correct answer from the codes given I TR FEe -
below : ‘

@ Liquidity trap (1) Edmund Phelps | @ {0 F19a (1) TeHE Hew

(®) Adaptive (2) Alfred Pigou (b) STIHTH U (2) IeHe ]
Expectations (c) HUt gfomH (3) ST HATE &g

() Wealtheffect (3) John Maynard | (q) Yur=a S0 (4) foeed wiem

Keynes fagrart gfeit
(d) Restatement of (4) Milton b
quantity theory Friedman
. (A) (a)—(1), (b)—(2), (c)—(3),
Codes :
(d)—(4)
(A) (a)—(1), (b)—(2), (c)—(3),
(d)—(4) B) (a)—(3), (b)—(4), (c)—(1),
(B) (a)—(3), (b)—(4), (e)—(1), (@—2)
@)—2) (©) (@)—(4), (B)—(3), (e)—(2),
(C) (a)—(4), (b)—(3), (c)—(2), (d)—(1)
b D) (@)—(3), (b)—(1), (©)—(2)
D) (@—3), B)—(1), (—2), o T
(d)—(4)
19 [P.T.O.



(A)

(B)

©)

(D)

(A)

(B)

(C)

(D)

Income velocity becomes a
function of rate of interest and

inflation

Income velocity becomes a

function of money supply

Money demand always becomes

an inelastic function

Money demand became

independent of rate of return

41.
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